

LEON CENTRAL APPRAISAL DISTRICT

JEFF BESHEARS, CHIEF APPRAISER

P.O. Box 536, 141 West St. Marys, Centerville, Texas 75833 903/536-2252 903/536-2377-FAX

Leoncentral windstream.net

2021 PARTIAL EXEMPTION LIST

On the pages that follow the reader will find a totals list of the partial exemptions for each taxing entity (16); Leon County, Buffalo ISD, Centerville ISD, Leon ISD, Normangee ISD, Oakwood ISD, City of Buffalo, City of Centerville, City of Normangee, City of Marquez, City of Jewett, City of Oakwood, Southeast ESD #1, Southwest ESD #2, Northwest ESD #3 and Northeast ESD #2.

Partial Exemptions are exemptions applied for by the tax payer that only exempt a portion of the value of a certain account. This type of exemption would normally include general homesteads, Over 65 homesteads, disability exemptions (DV) and widows or surviving spouses of Over 65. It is noted on the first page that includes all of the approved 2017 tax rates that Leon County and the school districts are the only entities that provide a homestead exemption, except as provided in the description that follows. The ESD's all follow the county and are therefore subject to homestead exemptions. A number of the school districts also allow for a local option homestead, which is approved by each individual school district and is in addition to the state mandated homestead exemption. Most of the cities only recognize those homesteads that are mandated by law, such as the DV. Jewett and Marquez are the only two that recognize the Over 65 Homestead.

The first page of each of the entity totals listed on the following pages clearly outline the number of each type of exemption. The description for each type is coded as follows; H = general homestead, S — Over 65, F disabled widow, B disabled, W widow, DV disabled veteran and DVIOO — 100% disabled veteran.

Count of Ho	omestead	s	gilgayasi	MLA B			- 400	PERL DE		(9.15)		
Н	S	F	В	D	W	0	DV	DV100	SS First F	Resp	SS Svc Membe	er
158	128	0	15	0	1	0	10	7	0		0	
wner and	Parcel Co	ounts				-4444	34 楼				100	
Total Parc	els*:			2,312° P	arcel cou	nt is figured b	y parcel p	er ownersh	ilp sequence	s.		
Total Own	iers:			1,292								
orted Hom	nestead/C	harity A	mounts	1 301	Value	E MEAN	Item	8		W.VES		SHR STREET,
	ed Home (C			(+)		0			0			
	rvice Memi			(+)		0			0			
SS of a Fir				(+)		0			0			
SS of DV				(+)		0			0			
SS of 1009				(+)		0			0			
omestead		ons		8 - 8	Value		Item	S		eg) by		
Homestead	d H,S			(+)		Ö			0			
Senior S				(+)		0			0		omestead	D - Disabled Only
Disabled B	1			(+)		0			0		ver 65 sabled Widow	W - Widow
DV 100%				(+)		1,392,360			7		sabled Widow	O · Over 65 (No HS) DV · Disabled Veteran
Surviving S				(+)		0			0		(1, 2, 3) - 100% Dis	
Survivng S	pouse of a	First Resp	ponder	(+)		0			0			Spouse of a Service Memb
		Total	Reimbur:	sable (=)		1,392,360			7	5* (5B,	5H, 5S) - Surviving	Spouse of a First Respon
Local Disco	ount			(+)		0			0			
Disabled V	eteran			(+)		82,000			7			
Optional 65				(+)		0			0			
Local Disal	oled			(+)		0			0			
State Home	estead			(+)		0			0			
Total Exe	mptions			(=)		1,474,360	(include:	s Ported/C	harity Amoι	ınts)		
pecial Cer	tified Tota	als	Styles	19. I \$10		WEELFE	NA PER	-30	1546			
Exempt V	/alue of F	irst Time	Absolut	te Exem	otion			\$0				
-				•								
Exempt V	alue of F	irst Time	Partial I	Exemption	on		\$39	4,910				
New AG/	Timber											
Mark	et							\$0				
Taxat	ole							\$0				
Value	Loss							\$0				
	ovement	/Persona	al									
New Impr		orayiic					\$1,26	4.450				
-	ot .						- NT 26	4 1511				
New Impr Marke Taxab							\$1,26					

S* (includes protested & exempt value)		(10) - O.T. O. BOT
stead Value A*	Parcels	Total Homestead Value A*
\$84,395	552	Market \$46,586,390
\$75,452		Taxable \$40,505,110
stead Value A* and E*	Parcels	Total Homestead Value A* and E*
\$88,177	603	Market \$53,171,310
\$78,608		Taxable \$45,636,470
stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and M
\$79,485	689	Market \$54,765,440
\$71,075		Taxable \$47,190,710
stead Value M1	Parcels	Total Homestead Value M1
\$18,536	86	Market \$1,594,130
\$18,260		Taxable \$1,554,240
	\$84,395 \$75,452 \$15,452 \$15,452 \$15,452 \$15,452 \$15,452 \$17,75 \$15,485 \$11,075 \$15,536	\$tead Value A*

ount of Ho	omestead	s		22 TOTAL	07522	ROWELS!		AVES 48	AND DESIGNATE	SECOMES.		ADMINISTRA
Н	S	F	В	D	W	0	DV	DV100	SS First R	Pasn S	S Svc Membe	
106	91	0	6	0	1	0	8	3	0	reap c	1	
wner and	Parcel Co	ounts	I de la constante de la consta		WELVAY)	State 3 1		37-14-5	773,128	-16.22	SALES	STREET, ST.
Total Parc	els":			914° P	arcel cour	nt is figured b	y parce	l per ownerst	nip sequences	s.		
Total Own	ers:			636								
orted Hom	estead/C	harity A	mounts	e i lea	Value	東南 最初に	Ite	ms	# 80 st	41.0000000		REAL PROPERTY OF THE PARTY OF T
DV Donate	d Home (C	harity)		(+)	-	0			0		STATE OF THE PARTY OF	
SS of a Se	rvice Meml	per Ported	Amount	(+)		0			0			
SS of a Fire	st Respond	ler Ported	Amount	(+)		0			0			
SS of DV E				(+)		0			0			
SS of 100%				(+)		108.740			1			
omestead	Exemption	ons	C 3 7 1 1/2	as N	Value	SENSON!	Ite	ms	STEN WILL	10 2000	TALL MARKET	DEPARTMENT
Homestead	J H,S			(+)		Ö			0 г			
Senior S				(+)		0			0	H - Home	estead	D - Disabled Only
Disabled B				(+)		0			0	S - Over		W - Widow
DV 100%				(+)		445.230			3		led Widow	O - Over 65 (No HS)
Surviving S	pouse of a	Service N	√lember	(+)		145,600			1	B - Disab		DV - Disabled Veterar
Survivng S				(+)		0					2, 3) - 100% Dis	
5 -1			Reimburs			590,830			4	4 (46, 4H, 5" (5B, 5H	45) - Surviving S , 5S) - Survivina	pouse of a Service Memb Spouse of a First Respon
Local Disco	ount		1101111111111111	(+)		0.030			· L	• • • •	, , , , , , , , , , , , ,	-p
Disabled Ve				(+)		77.000			0			
Optional 65				(+)		77,000			7			
Local Disat				(+)		-			0			
State Home				(+)		0			0			
Total Exe	mptions			(=)		776,570	(includ	des Ported/C	Charity Amou	nts)		
pecial Ceri	tified Total	als		0.00000		WEST B	0.79123	1 20	2.66.00			
				PERSONAL PROPERTY.	S. W. S. C.		R. 1.					
Exempt V	alue of F	irst Time	: Absolut	te Exemp	tion			\$0				
Exempt V	alue of Fi	irst Time	Partial F	Exemption	on		\$2	278,940				
New AG/	Timber											
Marke	et							\$0				
Taxab	ole							\$0				
Value								\$0				
	ovement/	Persona	al .					• -				
New Impre		. 0.30110					<u></u>	444 700				
New Impre												
New Impre Marke Taxab	et							144,720 444,720				

(11) - CITY OF CENTERVILLE

Average Value	95* (includes protested & exempt value)		8 TO 10 TO 1	(11) CHA OF CENTERVILL
	stead Value A*	Parcels	Total Homest	ead Value A*
Market	\$89,670	326	Market	\$29,232.700
Taxable	\$85,211		Taxable	\$27,358,650
Average Home	stead Value A* and E*	Parcels	Total Homeste	ead Value A* and E*
Market	\$92,711	342	Market	\$31,707,180
Taxable	\$88,179		Taxable	\$29,406,910
Average Home:	stead Value A* and E* and M1	Parcels	Total Homeste	ead Value A* and E* and M1
Market	\$85,036	385	Market	\$32,739,150
Taxable	\$81,000		Taxable	\$30,434,770
Average Home:	stead Value M1	Parcels	Total Homeste	ead Value M1
Market	\$23,999	43	Market	\$1,031,970
Taxable	\$23,903		Taxable	\$1,027,860

ount of Ho	mestead	ls			57名/李集	e Postale la	AND THE	F15 115	× 15-15-16		2 1777	
Н	s	F	В	D	W	0	DV	DV100	SS First Re	esp SS Sv	c Membe	r
75	54	0	7	0	0	0	4	3	0		0	
wner and	Parcel Co	ounts		X	4.576	12.0			N Division	11 67 1	WATER!	No. of the second
Total Parc	els*:			925° P	arcel cour	nt Is figured b	y parcel p	er ownersh	ip sequences			
Total Own	ers:			651								
orted Hom	estead/C	harity Ar	mounts	DA CENT	Value	COLUMN TO STATE OF THE STATE OF	Item	18	Maria Cale	1 18		A COMPANY
DV Donate				(+)		0			0			THE RESERVE OF THE PARTY OF THE
SS of a Se	rvice Mem	ber Ported	Amount	(+)		0	l		0			
SS of a Fin				(+)		0			0			
SS of DV D	Donated Ho	me Ported	d Amount	(+)		0			0			
SS of 100%				(+)		0			0			
omestead	Exemption	ons	Rimile	2007年7月	Value	2515/014	Item	ıs	Water Color		Sysola	LA PERSONAL PROPERTY
Homestead	H,S			(+)		0		HE PLANE	0 г	- 17		THE RESERVE OF THE PARTY OF THE
Senior S				(+)		0			0	H - Homestead	1	D - Disabled Only
Disabled B				(+)		0			0	S - Over 65		W - Widow
DV 100%				(+)		200,010			3	F - Disabled W	idow	O - Over 65 (No HS)
Surviving S	pouse of a	Service N	/lember	(+)		0			_	B - Disabled		DV - Disabled Veteran
Survivng S				(+)		0			_	DV100 (1, 2, 3)		abled Veteran pouse of a Service Membi
	•		Reimburs			200,010						Spouse of a First Respond
Local Disco	ount	10101	71011110410	(+)		200,010			ه <u>ا</u>	, ,		
Disabled Ve				(+)		27.330			3			
Optional 65				(+)		159,110			4			
Local Disat				(+)		0		_	•			
State Home				(+)		0			0 0			
Total Exe	mptions			(=)		386,450	(include	s Ported/C	harity Amoun	nts)		
pecial Cer	lified Tot	ale	241.5764, VA	RESIDE OF	AT (2) 345	CONTRACTOR AND		5 F20 III (1997)		::X 1		
poolal Odl	tilled Total	alo		1 468	2010	Carlon San	OBERRE		WERR STALL	J		
Exempt V	alue of F	irst Time	Absolut	e Exemp	otion			\$0				
Exempt V	alue of F	irst Time	Partial E	Exemption	on		S	3,000				
New AG/	Timber											
Marke	et						\$5	51,960				
Taxat	ole							\$1,580				
Value	Loss							50,380				
	ovement	/Persona	ıl									
New Impr		. 0.00110	**				6.7	8,930				
New Impr	at .						35/	0.9.311				
New Impr Marke Taxab								78,930				

(12) - CITY OF JEWETT

Average Value	S* (includes protested & exempt value)	SHOTAL BUILDING	LET SELECT LANGE &	
Average Home	stead Value A*	Parcels	Total Homestead Value A*	
Market	\$80,797	295	Market \$23,835,310	
Taxable	\$70,887		Taxable \$20,675,750	
verage Home	stead Value A* and E*	Parcels	Total Homestead Value A* and E*	
Market	\$83,261	322	Market \$26,810,340	
Taxable	\$72,904		Taxable \$23,304,930	
verage Home:	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and	d M
Market	\$68,936	413	Market \$28,470,670	
Taxable	\$60,807		Taxable \$24,941,330	
verage Home:	stead Value M1	Parcels	Total Homestead Value M1	
Market	\$18,245	91	Market \$1,660,330	
Taxable	\$18,001		Taxable \$1,636,400	

			-							(13)	- CIT T OF NORMAN
Count of He	omestead	ls	STATE OF THE PARTY OF	MES/A	0 19113		11 524		(U.) (U.)		Contract to the second
Н	S	F	В	D	W	0	DV	DV100	SS First R	Resp SS Svc Mem	hor
57	57	0	8	0	0	0	7	0	0	0	Del
wner and	Parcel Co	ounts			RII DE		100	PER LES			
Total Parc	els*:			672* P	arcel coun	t is figured i	by parcel	per owners	hip sequence:	s.	
Total Own	iers:			490							
orted Hon	nestead/C	harity A	mounts	==1/2/18	Value		Ite	ms	SECRETAL STREET	N 8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
	ed Home (C			(+)		()		0	(AASSELLE SANDERS DE LA CONTRACTOR DE LA	
SS of a Se	rvice Mem	ber Porte	d Amount	(+)		(0		
	st Respond			(+)		Č			0		
SS of DV I	Donated Ho	ome Porte	ed Amount	(+)		(0		
SS of 1009				(+)		(0		
lomestead	Exemption	ons	S. P. San St.	the same	Value	5 KS 0 FSW		ms	St. T. J. Port Phillips	Secretary and the second	-1102-77-1-1-100-11-1
Homestea				(+)	Turuc	(IIIa	0 r	THE CONTROL OF	
Senior S				(+)					o l	H - Homestead	D - Disabled Only
Disabled B	3			(+)		(o l	S - Over 65	W - Widow
DV 100%				(+)		(F - Disabled Widow	O - Over 65 (No HS)
Surviving S	Spouse of a	Service	Member			(0	B - Disabled	DV - Disabled Veterar
Survivng S				(+)					0	DV100 (1, 2, 3) - 100% (
out titing o	pouse or a			(+)		C			0	4 (4B, 4H, 4S) - Survivin	g Spouse of a Service Memb
		Tota	l Reimburs			0)		0 [5" (5B, 5H, 5S) - Survivii	ng Spouse of a First Respond
Local Disco				(+)		C)		0		
Disabled V				(+)		68,500)		7		
Optional 65				(+)		0)		0		
Local Disal				(+)		0)		0		
State Home	estead			(+)		0	}		0		
Total Exe	mptions			(=)		68,500	(includ	les Ported/C	Charity Amou	ints)	
special Cer	tifled Tot	als	E Z			1000					
Exempt V	alue of F	irst Tim	e Absolut	o Evomo	tion			\$0	ONEO 102-12-00		
								30			
Exempt V	alue of F	irst Tim	e Partial E	xemptio	n			\$0			
New AG/	Timber										
Mark	et							\$0			
Taxat											
	Loss							\$0			
								\$0			
New Impr		Person.	al								
Mark	et						\$1	181,970			
Taxat	ole							181,970			
								,			

Avarage Value				(13) - CITT OF NORMAN
Average value	95* (Includes protested & exempt value)			
Average Home	estead Value A*	Parcels	Total Homest	ead Value A*
Market	\$50,589	252	Market	\$12,748,630
Taxable	\$49,179		Taxable	\$12,103,380
verage Home	stead Value A* and E*	Parcels	Total Homest	ead Value A* and E*
Market	\$50,319	255	Market	\$12,831,480
Taxable	\$48,926		Taxable	\$12,227,660
verage Home	stead Value A* and E* and M1	Parcels	Total Homest	ead Value A* and E* and M1
Market	\$46,104	298	Market	\$13,739,100
Taxable	\$44,897		Taxable	\$13,130,990
verage Home	stead Value M1	Parcels	Total Homest	ead Value M1
Market	\$21,107	43	Market	\$907,620
Taxable	\$21,007		Taxable	\$903,330
Market	\$21,107		Market	\$907,620

_												
ount of Ho	mestead	s	#8	The world	14.13	78		ALC: Physical			Marin Charles	
Н	S	F	В	D	W	0	DV	DV100	SS First R	esp	SS Svc Membe	er
20	21	0	2	0	0	0	2	3	0		0	
wner and F	Parcel Co	ounts		The age				aven lis	College Mile	u W	HUI BEUU	OND WEST STATES
Total Parce	ils*:			373* P	arcel coun	t is figured b	y parcel	per owners	hip sequences			
Total Owne	ers:			258								
orted Home	estead/C	harity A	mounts	(4)	Value		Ite	ms	- NO.		Part View	
DV Donated	Home (C	harity)		(+)		0		-	0			
SS of a Ser	vice Mem	ber Ported	Amount	(+)		0)		0			
SS of a Firs	t Respond	ler Ported	Amount	(+)		0			ō			
SS of DV D				(+)		0			0			
SS of 100%				(+)		0			0			
omestead E	xemptic	ons		STATE OF	Value	10000000000000000000000000000000000000	Ite	ms	600	Mary.		7 1 2 2 2 2 3 3 4 5 7 0
Homestead	H,S			(+)		0			0 [
Senior S				(+)		0	ı		0	H - H	omestead	D - Disabled Only
Disabled B				(+)		0	ı		0		ver 65	W - Widow
DV 100%				(+)		321,490	ı		3		sabled Widow	O - Over 65 (No HS)
Surviving Sp	ouse of a	Service N	vlember .	(+)		0			Λ I		sabled	DV - Disabled Veteran
Survivng Sp				(+)		0			· I		(1, 2, 3) - 100% Dis	
0 1			Reimburs	. ,		321,490				5° (5B.	5H, 5S) - Surviving	Spouse of a Service Member Spouse of a First Respond
Local Discou	int	10101	recimbars	(+)		021,430			0		, , ,	
Disabled Ve	teran			(+)		10.000			4			
Optional 65				(+)		10,000			0			
Local Disabl	ed			(+)		0			0			
State Home:				(+)		0			0			
Total Exen	nptions			(=)		331,490	(includ	les Ported/0	Charity Amoui	nts)		
pecial Certi	fied Tot	ale		T STATE OF THE	9 J. E.	WENT YO				1		
						MARKET A	9.00 P.10	11-12-12-12-12-12-12-12-12-12-12-12-12-1				
Exempt Va	lue of F	irst Time	Absolut	e Exemp	otion		9	28,960				
Exempt Va	lue of F	irst Time	Partial E	Exemptic	on			\$0				
New AG/T	imber											
Marke	t							\$0				
Taxabl												
Value	-							\$0 \$0				
		/Daysa	.1					40				
Mossi Imme-	vement	rersona	41									
New Impro												
New Impro Market Taxabl	t							543,860 543,860				

Average Home	stead Value A*	PI		
Average nome	Stead value A	Parcels	Total Homestead Value A*	
Market	\$69,260	80	Market \$5,540,860	
Taxable	\$62,710		Taxable \$4,810,710	
Average Home	stead Value A* and E*	Parcels	Total Homestead Value A* and E*	
Market	\$72,006	98	Market \$7,056,660	
Taxable	\$64,519		Taxable \$6,054,960	
verage Home	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* a	and M
Market	\$63,999	124	Market \$7,935,900	
Taxable	\$57,934		Taxable \$6,858,620	
verage Home:	stead Value M1	Parcels	Total Homestead Value M1	
Market	\$33,816	26	Market \$879,240	
Taxable	\$33,114		Taxable \$803,660	

В	Milai	100			DECEMBER OF STREET	CONTRACTOR OF THE PARTY OF	world by the state of the state	Teacher and the second
В						An Evaluation		
	D	W	0	DV DV10	00 SS F	irst Resp	SS Svc Membe	r
4	0	0	0	9 5		0	0	
Section Co.	8 H 30	3000	Na see a	State of the state of		MARIE IN	WAR SW III	
	477° P	arcel coun	ıt is figured b	y parcel per own	ership seq	uences.		
	339							
y Amounts	li saga in y	Value		Items	7.10		W 1 1100	NI II S AGE
)	(+)		0		0			
rted Amount	(+)		0		0			
rted Amount	(+)		0		0			
orted Amount	(+)		0		0			
	(+)		0		0			
Since Street	0.00	Value		Items	N. C. C. C. C.			
	(+)		0		0			
	(+)		0		0			D - Disabled Only
	(+)		0		0			W - Widow
			240.130		5			O - Over 65 (No HS)
ce Member			0		-			DV - Disabled Veterar
	1000		0		_			
-	,		_		_			
otal Kellitour			,			ļ	- 10 /	· · · · · · · · · · · · · · · · · · ·
	, ,				_			
	, ,		, , ,		-			
			_		-			
	(+)		0		0			
	(=)		314.320	(includes Port	ed/Charity	Amounts)		
3/12/14	, ,				ALEXAND V	1		
		PER KYAS		The state of the s		Special Section		
ime Absolu	te Exem	ption		\$()			
ime Partial	Exempti	on		\$79,500)			
				\$1)			
				\$(
onal								
onal				\$44.640	1			
onal				\$41,610 \$41,610				
	Time Absolu	477* P 339 y Amounts) (+) orted Amount (+) orted Amount (+) outed Amount (+) (+) (+) (+) (+) (+) (+) (+) (+) (+)	477* Parcel coun 339 y Amounts Value (+) orted Amount (+) orted Amount (+) ount (+) Value (+) (+) (+) (+) (ce Member (+) Responder (+) Total Reimbursable (=) (+) (+) (+) (+) (+) (+) (+) (+) (+) (+	477* Parcel count is figured b 339 y Amounts (+) 0 orted Amount (+) 0 (+) 0 (+) 0 (+) 0 (+) 0 (+) 240,130 (+) 0 (e) 240,130 (f) 74,190 (f) 74,190 (f) 74,190 (f) 0 (f)	477* Parcel count is figured by parcel per own 339 y Amounts Value Items (+) 0 orded Amount (+) 0 orded Am	477* Parcel count is figured by parcel per ownership sequings 339 y Amounts Value Items (+)	A77* Parcel count is figured by parcel per ownership sequences. 339 y Amounts	## A 171° Parcel count is figured by parcel per ownership sequences. ## 339 ## Amounts ## Value (+)

Average Values	8* (Includes protested & exempt value)		1 - 1	
Average Homes	stead Value A*	Parcels	Total Homest	ead Value A*
Market	\$59,822	180	Market	\$10,768,080
Taxable	\$53,608		Taxable	\$9,183,070
Average Homes	stead Value A* and E*	Parcels	Total Homesto	ead Value A* and E*
Market	\$60,966	190	Market	\$11,583,590
Taxable	\$54,727		Taxable	\$9,929,770
Average Homes	stead Value A* and E* and M1	Parcels	Total Homesto	ead Value A* and E* and M
Market	\$57,163	213	Market	\$12,175,890
Taxable	\$51,570		Taxable	\$10,504,010
Average Homes	stead Value M1	Parcels	Total Homesto	ead Value M1
Market	\$25,752	23	Market	\$592,300
Taxable	\$25,488		Taxable	\$574,240

*** Freeze Totals: (This is only for Effective Tax Rate Calculation)

Total Ceiling Tax: 620,772.38 Total Freeze Taxable: 231,118,630 New Imp/Pers with Ceiling: + 1,381,360

Freeze Adjusted Taxable: 1,965,110,188This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count	of	Homesteads
-------	----	------------

Н	S	F	В	D	W	0	DV	DV100	SS First Resp	SS Svc Member
2,123	2,526	0	174	0	6	0	277	124	1	3

Owner and Parcel Counts

Total Parcels*:

68,848* Parcel count is figured by parcel per ownership sequences.

Total Owners:

28,418

orted Homestead/Charity Amounts		Value	Items	Shi kan ta
DV Donated Home (Charity)	(+)	0	0	
SS of a Service Member Ported Amount	(+)	0	0	
SS of a First Responder Ported Amount	(+)	0	0	
SS of DV Donated Home Ported Amount	(+)	0	0	
SS of 100% DV Ported Amount	(+)	108,740	1	

Homestead Exemptions		/alue	Items		
Homestead H,S	(+)	0	0		
Senior S	(+)	0	0	H - Homestead	D - Disabled Only
Disabled B	(+)	0	0	S - Over 65	W - Widow
DV 100%	(+)	18,476,960	124	F - Disabled Widow B - Disabled	O - Over 65 (No HS) DV - Disabled Veteran
Surviving Spouse of a Service Member	(+)	352,450	3	DV100 (1, 2, 3) - 100% D	
Survivng Spouse of a First Responder	(+)	102,800	1		Spouse of a Service Member
Total Reimburs	able (=)	18,932,210	128	5" (58, 5H, 5S) - Surviving	Spouse of a First Responder
Local Discount	(+)	61,256,000	4,783		
Disabled Veteran	(+)	2,167,820	231		
Optional 65	(+)	47,330,210	2,496		
Local Disabled	(+)	3,116,360	169		
State Homestead	(+)	0	0		
Total Exemptions	(=)	132,911,340	(includes Ported/Charity A	Amounts)	

Special	Cartified	Totale

Exempt Value of First Time Absolute Exemption	\$199,150
Exempt Value of First Time Partial Exemption	\$3,827,670
New AG/Timber	
Market	\$5,515,470
Taxable	\$238,150
Value Loss	\$5,277,320
New Improvement/Personal	
Market	\$32,491,780
Taxable	\$31,261,280

Average Home	estead Value A*	Parcels	Total Homestead Value A*	
Market			Market \$388,653,190	
	\$104,476	3,720		
Taxable	\$88,385		Taxable \$306,981,190	
Average Home	estead Value A* and E*	Parcels	Total Homestead Value A* and E*	
Market	\$115,605	8,307	Market \$960,334,110	
Taxable	\$97,778		Taxable \$778,516,480	
Average Home	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* an	d M
Market	\$104,901	9,582	Market \$1,005,169,270	
Taxable	\$88,881	-,	Taxable \$815,748,800	
Average Home	stead Value M1	Parcels	Total Homestead Value M1	
Market	\$35,164	1,275	Market \$44,835,160	
Taxable	\$29,415		Taxable \$37,232,320	

*** Freeze Totals: (This is only for Effective Tax Rate Calculation)

Total Ceiling Tax:

271,394.13

Total Freeze Taxable:

42,405,340

New Imp/Pers with Ceiling: +

360,530

**Freeze Adjusted Taxable:

401,621,023**This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Н	S	F	В	D	W	0	DV	DV100	SS First Resp	SS Svc Member
558	576	0	43	0	3	0	56	37	0	0

Owner and Parcel Counts

Total Parcels*:

11,129* Parcel count is figured by parcel per ownership sequences.

Total Owners:

5,405

Ported Homestead/Charity Amounts	Value	Items		seam desiliari sur establication
DV Donated Home (Charity)	(+)	0	0	
SS of a Service Member Ported Amount	(+)	0	0	
SS of a First Responder Ported Amount	(+)	0	0	
SS of DV Donated Home Ported Amount	(+)	0	0	
SS of 100% DV Ported Amount	(+)	0	0	

Homestead Exemptions		Value	Items	
Homestead H,S	(+	28,055,020	1,203	
Senior S	(+	5,159,880	549	H - Homestead D - D sabled Only
Disabled B	(+	448,260	45	S - Over 65 W - Widow
DV 100%	(+	4,029,110	35	F - Disabled Widow O - Over 65 (No HS) B - Disabled DV - Disabled Veteran
Surviving Spouse of a Service	Member (+) 0	0	DV100 (1, 2, 3) - 100 Disabled Veteran
Surviving Spouse of a First Re	sponder (+) 0	0	4 (4B, 4H, 4S) - Surviving Spouse of a Service Member
Tot	al Reimbursable (=	37,692,270	1,832	5* (5B, 5H, 5S) - Surviving Spouse of a First Responder
Local Discount	(+	4,944,290	1,034	
Disabled Veteran	(+	412,990	43	
Optional 65	(+) 0	0	
Local Disabled	(+) 0	0	
State Homestead	(+)	0	0	
Total Exemptions	(=	43,049,550	(includes Ported/Chari	ty Amounts)

Special Certified Totals

Exempt Value of First Time Absolute Exemption	\$0
---	-----

Exempt Value of First Time Partial Exemption \$590,560

New AG/Timber

 Market
 \$1,456,910

 Taxable
 \$58,680

 Value Loss
 \$1,398,230

New Improvement/Personal

Market \$13,434,930 Taxable \$13,153,190

4			
Average Home	estead Value A*	Parcels	Total Homestead Value A*
Market	\$90,583	889	Market \$80,528,980
Taxable	\$51,659		Taxable \$56,222,530
Average Home	stead Value A* and E*	Parcels	Total Homestead Value A* and E*
Market	\$111,391	2,068	Market \$230,357,500
Taxable	\$71,705		Taxable \$170,583,040
Average Home	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and
Market	\$99,961	2,423	Market \$242,206,800
Taxable	\$61,559	·	Taxable \$178,418,270
Average Home	stead Value M1	Parcels	Total Homestead Value M1
Market	\$33,378	355	Market \$11,849,300
Taxable	\$2,451		Taxable \$7,835,230

** Freeze Totals: (This is only for Effective Tax Rate Calculation)

 Total Ceiling Tax:
 280 822 13

 Total Freeze Taxable:
 50,653,900

 New Imp/Pers with Ceiling:
 818,520

Freeze Adjusted Taxable: 377.168,610This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

int of H	omestead	ds			11 = (Lo Wil	100			EN MEDIEN SE VILLE X
H	S	F	В	D	W	0	DV		SS First Resp	SS Svc Member
610	716	0	52	0	2	0	78	35	0	3

Owner and Parcel Counts

Total Parcels*:

13,482* Parcel count is figured by parcel per ownership sequences.

Total Owners:

7,228

Ported Homestead/Charity Amounts		Value	tems	
DV Donated Home (Charity)	(+)	0	0	
SS of a Service Member Ported Amount	(+)	0	0	
SS of a First Responder Ported Amount	(+)	0	0	
SS of DV Donated Home Ported Amount	(+)	0	0	
SS of 100% DV Ported Amount	(+)	108,740	1	

Homestead Exemptions	V	alue Ito	ems		
Homestead H,S	(+)	32,948,880	1,408		
Senior S	(+)	6,451,370	686	H - Homestead	D - Disabled Only
Disabled B	(+)	461,530	52	S - Over 65	W - Widow
DV 100%	(+)	4,388,280	33	F - Disabled Widow	O - Over 65 (No HS)
Surviving Spouse of a Service Member	(+)	247,450	3	B - Disabled DV100 (1, 2, 3) - 100% D	DV - Disabled Veteran
Surviving Spouse of a First Responder	(+)	0	0	1000000	Spouse of a Service Member
Total Reimburs	able (=)	44,497,510	2,182	5* (5B, 5H, 5S) - Surviving	Spouse of a First Responde
Local Discount	(+)	16,025,080	1,219		****
Disabled Veteran	(+)	531,310	57		
Optional 65	(+)	0	0		
Local Disabled	(+)	0	0		
State Homestead	(+)	0	0		
Total Exemptions	(=)	61,162,640 (inclu	ides Ported/Charity A	Amounts)	

Special Certified Totals

Exempt Value of First Time Absolute Exemption	\$0
Exempt Value of First Time Partial Exemption	\$1,101,360
New AG/Timber	
Market	\$1,160,770
Taxable	\$57,010
Value Loss	\$1,103,760
New Improvement/Personal	
Market	\$10,285,240
Taxable	\$9,809,400

Average Value	98* (Includes protested & exempt value)			(01) - OLINI EKAILEE
Average Home	estead Value A*	Parcels	Total Homeste	ead Value A*
Market	\$88,332	674	Market	\$59,536,030
Taxable	\$50,867		Taxable	\$41,198,690
verage Home	estead Value A* and E*	Parcels	Total Homeste	ead Value A* and E*
Market	\$106,651	2,309	Market	\$246,257,470
Taxable	\$66,569		Taxable	\$182,963,210
verage Home	stead Value A* and E* and M1	Parcels	Total Homeste	ead Value A* and E* and M1
Market	\$98,070	2,634	Market	\$258,318,890
Taxable	\$59,312		Taxable	\$191,027,490
verage Home	stead Value M1	Parcels	Total Homeste	ead Value M1
Market	\$37,112	325	Market	\$12,061,420
Taxable	\$6,438		Taxable	\$8,064,280

Freeze Totals: (This is only for Effective Tax Rate Calculation)

Total Ceiling Tax:

274,925.48

Total Freeze Taxable:

46,490,620

New Imp/Pers with Ceiling: +

82,260

**Freeze Adjusted Taxable:

823,558,835**This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count	of	Homesteads

Н	S	F	В	D	W	0	DV	DV100	SS First Resp	SS Svc Member
448	490	Ω	36	n	n	0	50	20	1	n

Owner and Parcel Counts

Total Parcels*:

29,275° Parcel count is figured by parcel per ownership sequences.

Total Owners:

7,290

Ported Homestead/Charity Amounts	Value	Items	STATE OF THE PARTY OF THE	
DV Donated Home (Charity)	(+)	0	0	
SS of a Service Member Ported Amount	(+)	0	0	
SS of a First Responder Ported Amount	(+)	0	0	
SS of DV Donated Home Ported Amount	(+)	0	0	
SS of 100% DV Ported Amount	(+)	0	0	

Homestead Exemptions	V	alue	Items	The formula
Homestead H,S	(+)	22,838,160	986	
Senior S	(+)	4,444,000	471	H - Homestead
Disabled B	(+)	340,760	36	S - Over 65
DV 100%	(+)	2,047,150	16	F - Disabled Wid B - Disabled
Surviving Spouse of a Service Member	(+)	0	0	DV100 (1, 2, 3) - 1
Surviving Spouse of a First Responder	(+)	67,800	1	4 (4B, 4H, 4S) - S
Total Reimburs	sable (=)	29,737,870	1,510	5" (5B, 5H, 5S) - S
Local Discount	(+)	0	0	
Disabled Veteran	(+)	398,050	39	
Optional 65	(+)	0	0	
Local Disabled	(+)	0	0	
State Homeslead	(+)	0	0	
Total Exemptions	(=)	30,135,920	(includes Ported/Charity /	Amounts)

F - Disabled Willow	0 - Over 65 (No H5)
B - Disabled	DV - Disabled Veteran
DV100 (1, 2, 3) - 100% D	isabled Veteran
4 (4B, 4H, 4S) - Surviving	Spouse of a Service Member
5" (5B, 5H, 5S) - Survivin	g Spouse of a First Responder

D - Disabled Only

W - Widow

Special Certified Totals

Exempt Value of First Time Absolute Exemption	\$94,270
---	----------

Exempt Value of First Time Partial Exemption \$445,330

New AG/Timber

Market	\$2,219,660
Taxable	\$98,200
Value Loss	\$2,121,460

New Improvement/Personal

Market	\$4,880,010
Taxable	\$4,835,940

Average Home	estead Value A*	Parcels	Total Homestead Value A*	
Market	\$110,971	796	Market \$88,333,250	
Taxable	\$75,665		Taxable \$69,631,120	
Average Home	estead Value A* and E*	Parcels	Total Homestead Value A* a	nd E*
Market	\$126,316	1,826	Market \$230,654,840	0
Taxable	\$91,974		Taxable \$188,509,496)
Average Home	stead Value A* and E* and M1	Parcels	Total Homestead Value A* a	nd E* and M
Market	\$110,952	2,198	Market \$243,873,396)
Taxable	\$78,030	,	Taxable \$198,847,040)
Average Home	stead Value M1	Parcels	Total Homestead Value M1	
Market	\$35,533	372	Market \$13,218,550	
Taxable	\$9.581		Taxable \$10,337,550	

*** Freeze Totals: (This is only for Effective Tax Rate Calculation)

Total Ceiling Tax:

411,937,71

Total Freeze Taxable:

52,563,410

New Imp/Pers with Ceiling: +

95,370

**Freeze Adjusted Taxable:

238,745,310 **This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count	of	Homesteads

H	S	F	В	D	W	0	DV	DV100	SS First Resp	SS Svc Member
									0	

Owner and Parcel Counts

Total Parcels*:

14,069 Parcel count is figured by parcel per ownership sequences.

Total Owners:

9,298

orted Homestead/Charity Amounts	Value	Items	
DV Donated Home (Charity)	(+)	0	0
SS of a Service Member Ported Amount	(+)	0	0
SS of a First Responder Ported Amount	(+)	0	0
SS of DV Donated Home Ported Amount	(+)	0	0
SS of 100% DV Ported Amount	(+)	0	0

Homestead Exemptions	CONTRACTOR	Value	Items	
Homestead H,S	(+)	25,443,760	1,061	_
Senior S	(+)	5,711,500	589	- 1
Disabled B	(+)	292,300	30	
DV 100%	(+)	3,589,960	22	
Surviving Spouse of a Service Member	(+)	0	0	l _o
Surviving Spouse of a First Responder	(+)	0	0	4
Total Reimbur	sable (=)	35,037,520	1,702	5
Local Discount	(+)	29,480,820	960	_
Disabled Veteran	(+)	574,520	66	
Optional 65	(+)	0	0	
Local Disabled	(+)	0	0	
State Homestead	(+)	0	0	
Total Exemptions	(=)	65,092,860	(includes Ported/Charity	/ Amount

H - Homestead	D - Disabled Only
S - Over 65	W - Widow
F - Disabled Widow	O - Over 65 (No HS)
B - Disabled	DV - Disabled Veteran
DV100 (1, 2, 3) - 100% D	isabled Veteran
4 (4B, 4H, 4S) - Surviving	Spouse of a Service Member
	g Spouse of a First Responder

Total Exemptions

Special Certified Totals

\$19,000

Exempt Value of First Time Partial Exemption \$284,270

New AG/Timber

Market \$338,880 Taxable \$13,690 Value Loss \$325,190

New Improvement/Personal

Market \$3,495,950 Taxable \$2,885,730

Average Home	estead Value A*	Parcels	Total Homestead Value A*	Total Homestead Value A*			
Market	\$131.013	1.060	Market \$138.874.280				
Taxable	\$77,589	1,000	Taxable \$90,643,000				
Average Home	stead Value A* and E*	Parcels	Total Homestead Value A* and E*				
Market	\$129 ,913	1,600	Market \$207,861,460				
Taxable	\$75,438		Taxable \$137,028,330				
Average Home	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* a	nd M			
Market	\$122,011	1.746	Market \$213,032,550				
Taxable	\$69,392	.,	Taxable \$140,061,930				
Average Home	stead Value M1	Parcels	Total Homestead Value M1				
Market	\$35,418	146	Market \$5,171,090				
Taxable	\$3,144		Taxable \$3,033,600				

*** Freeze Totals: (This is only for Effective Tax Rate Calculation)

Total Ceiling Tax:

48,827.68

Total Freeze Taxable:

8,182,830

New Imp/Pers with Ceiling: +

0

**Freeze Adjusted Taxable:

80,370,680**This number DOES NOT represent any Jurisdiction's Certified Taxable Value**

H - Homestead

F - Disabled Widow

S - Over 65

B - Disabled

Estimated Total Levy: ((Net Taxable Value - Total Freeze Taxable + New Imp/Pers with Ceiling) * Tax Rate / 100) + Total Ceiling Tax or (Freeze Adjusted Taxable * Tax Rate / 100) + Total Ceiling Tax

Count	of Homesteads

Н	S	F	В	D	W	0	DV	DV100	SS First Resp	SS Svc Member
								10		0

Owner and Parcel Counts

Total Parcels*:

2,164' Parcel count is figured by parcel per ownership sequences.

Total Owners:

1,266

orted Homestead/Charity Amounts	Value	Items	EILEWND VESI	
DV Donated Home (Charity)	(+)	0	0	
SS of a Service Member Ported Amount	(+)	0	0	
SS of a First Responder Ported Amount	(+)	0	0	
SS of DV Donated Home Ported Amount	(+)	0	0	
SS of 100% DV Ported Amount	(+)	0	0	

Homestead Exemptions	Va	lue	Items
Homestead H.S	(+)	5,823,440	253
Senior S	(+)	1,059,850	114
Disabled B	(+)	69,510	9
DV 100%	(+)	747,610	8
Surviving Spouse of a Service Member	(+)	0	0
Surviving Spouse of a First Responder	(+)	0	0
Total Reimburs	able (=)	7,700,410	384
Local Discount	(+)	0	0
Disabled Veteran	(+)	124,860	14
Optional 65	(+)	0	0
Local Disabled	(+)	0	0
State Homestead	(+)	0	0

(=)

4 (4B, 4H, 4S) - Surviving Spouse of a Service Member 5* (5B, 5H, 5S) - Surviving Spouse of a First Responder

DV100 (1, 2, 3) - 100% Disabled Veteran

D - Disabled Only

O - Over 65 (No HS)

DV - Disabled Veteran

W - Widow

Total Exemptions

7,825,270 (includes Ported/Charity Amounts)

Special Certified Totals

\$69,410
\$121,900
\$339,250
\$10,570
\$328,680
\$395,650
\$342,140

Average Value	S* (includes protested & exempt value)	BULL NICK		(5.7)
Average Home	stead Value A*	Parcels	Total Homestea	d Value A*
Market	\$71,032	301	Market	\$21,380,650
Taxable	\$40,939		Taxable	\$12,611,080
Average Home	stead Value A* and E*	Parcels	Total Homestea	d Value A* and E*
Market	\$89,688	504	Market	\$45,202,840
Taxable	\$59,798		Taxable	\$33,718,730
Average Home:	stead Value A* and E* and M1	Parcels	Total Homestead	d Value A* and E* and M1
Market	\$82,164	581	Market	\$47,737,640
Taxable	\$52,890		Taxable	\$35,409,380
Average Home:	stead Value M1	Parcels	Total Homestead	d Value M1
Market	\$32,919	77	Market	\$2,534,800
Taxable	\$7,673		Taxable	\$1,690,650

outil of Ho	mestead	s		5	300	THE MAN	gride by		50 (98.3)	250	THE REAL PROPERTY.	三 三 三 三 三 三 三 三 三 三 三 三 三 三 三 三 三 三 三
Н	S	F	В	D	W	0	DV	DV100	SS First R	esp	SS Svc Membe	<u></u> г
709	887	0	58	0	2	0	97	43	0	,	3	
wner and i	Parcel Co	ounts	HOLLEY	XIII. = ())	STIE	114300	(ABLE)	gilino)/g	Water Marie	HILL .		
Total Parce	els*:			15,757° P	arcel cou	nt is figured b	y parce	l per ownersh	ip sequences			
Total Own	ers:			8,385								
orted Hom	estead/C	harity A	mounts		Value	naman 45	Ite	ms	MAS TO	75U 5	NI "-	STATE OF THE PARTY
DV Donate	d Home (C	harity)		(+)		C			0		· · · · · · · · · · · · · · · · · · ·	
SS of a Ser	rvice Memi	ber Porte	d Amount	(+)		0	·		0			
SS of a Firs	st Respond	der Portec	d Amount	(+)		0	+		0			
SS of DV D				(+)		C	I		0			
SS of 100%	6 DV Porte	d Amoun	t	(+)		108,740			1			
mestead	Exemption	ons		27720	Value		Ite	ms	White he	Chief.		Tuyan hara
Homestead	IH,S			(+)		0			0 [
Senior S				(+)		0	ı		o	Н - Ноп	estead	D - Disabled Only
Disabled B				(+)		-0	ı		o	S - Ove		W - Widow
DV 100%				(+)		6,898,860	ı	4	3		bled Widow	O - Over 65 (No HS)
Surviving S	pouse of a	Service	Member	(+)		352,450			3	B - Disa		DV - Disabled Veteran
Survivng Sp				(+)		0			ŏ		2 3) - 100% Disa 4S) - Surviving S	abled Veteran pouse of a Service Memb
			l Reimbur	, ,		7,251,310		4	·			Spouse of a First Respond
Local Disco	unt	7010	.,	(+)		20,438,770		1.64				
Disabled Ve	eteran			(+)		740.340		7				
Optional 65				(+)		16,702,390		88	_			
Local Disab				(+)		1,046,380		5	-			
State Home				(+)		0			0			
Total Exe	mptions			(=)		46,287, 9 30	(includ	des Ported/C	harity Amou	nts)		
pecial Cert	lified Tot	als		W. EM	100000000	- 131	1000		DVC 1X ETT.			
Everent V	alua of F	inna Tina	- Ab b		4.			20	100			
Exempt V	alue of F	irst rim	e Absolu	te Exemp	otion			\$0				
Exempt V	alue of F	irst Tim	e Partial	Exemption	on		\$1,	608,940				
New AG/	Timber											
Marke	et						\$3.	009,860				
Taxab	le							149,700				
Value	Loss							860,160				
	ovement	/Person	al									
New Impre												
New Impre							\$121	075,160				

Average Value	98* (includes protested & exempt value)		
Average Home	estead Value A*	Parcels	Total Homestead Value A*
Market	\$90,059	752	Market \$67,724,710
Taxable	\$76,904		Taxable \$53,905,020
Average Home	estead Value A* and E*	Parcels	Total Homestead Value A* and E*
Market	\$108,711	2,827	Market \$307,327,980
Taxable	\$93,242		Taxable \$253,707,410
Average Home	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and
Market	\$100,317	3,216	Market \$322,621,430
Taxable	\$86,171	,	Taxable \$266,444,990
Average Home	stead Value M1	Parcels	Total Homestead Value M1
Market	\$39,314	389	Market \$15,293,450
Taxable	\$33,607		Taxable \$12,737,580

F B	D	W o	DV	DV100	00 Fi D		
			U+	DALOG	SS First Resp	SS Svc Membe	er
0 20	0	1 0	53	17	0	0	
ounts	A KEIRIN	N . 21 0	CL SSIN			SHEET, MANUFACTURE	
	12,660° P	arcel count is figure	ed by parcel	per ownersh	ip sequences.		
	8,471						
harity Amounts	s	Value	Iten	ns	Major Mari	ATEMORE MINES	AVERS DESTRICT
harity)	(+)		0		0		
			0	1	0		
er Ported Amount	t (+)		0		0		
me Ported Amour	nt (+)		0		0		
d Amount	(+)		0		0		
ns		Value	Iten	ns			
	(+)		0				
	(+)		0	(٠ .		D - Disabled Only
	(+)		0	(W - Widow
223 95-71	(+)	3,265,2	210	13	7 I		O - Over 65 (No HS) DV - Disabled Veteran
	(+)		0	(^ I		
First Responder	(+)		0	1	D 4 (4	B, 4H, 4S) - Surviving S	Spouse of a Service Member
Total Reimb	ursable (=)	3,265.2	210	11	F 2 //	5B, 5H, 5S) - Surviving	Spouse of a First Respond
	(+)	The section of					
	(+)						
	(+)	69.5			-		
	(+)				-		
	(+)	180 100	0				
	(=)	23,914,4	180 (include	es Ported/C	harity Amounts)		
als de la company	60000000		VIII II SI	(0.3)	Sav 3/4		
and Times Alice	L.A. F	43		10.000			
rst Time Abso	iute Exemp	otion	\$	19,000			
irst Time Partia	al Exemption	on	\$4	46,000			
			\$1	90,660			
				\$7,300			
Personal							
			¢2.2	46,550			
			Ø4 A	08,910			
	harity Amounts Charity) ber Ported Amount ome Ported Amount oms Service Member First Responder Total Reimber	12,660° P 8,471 harity Amounts Charity) (+) ber Ported Amount (+) der Ported Amount (+) ome Ported Amount (+) d Amount (+) Charity) (+) ber Ported Amount (+) ome Ported Amount (+) ome Ported Amount (+) d Amount (+) (+) (+) (+) (+) (+) (+) (+) (+) (+)	12,660° Parcel count is figure 8,471 tharity Amounts Charity) (+) ber Ported Amount (+) der Ported Amount (+) ome Ported Amount (+) d Amount (+) (+) (+) (+) (+) (+) (+) (+) (*) (*) (*) (*) (*) (*) (*) (*) (*) (*	12,660° Parcel count is figured by parcel 8,471	12,660° Parcel count is figured by parcel per ownersh 8,471	12.660° Parcel count is figured by parcel per ownership sequences. 8.471 12.660° Parcel count is figured by parcel per ownership sequences. 8.471 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel per ownership sequences. 12.660° Parcel count is figured by parcel cou	12,660' Parcel count is figured by parcel per ownership sequences. 8,471 harity Amounts Value Items

Journe of The	omestead	S			11 3	S. CANDER			No.	ERM		ON THE PROPERTY
Н	S	F	В	D	W	0	DV	DV100	SS First F	Resp	SS Svc Membe	r
608	592	0	49	0	0	0	66	22	1		0	
wner and	Parcel Co	ounts		((=33))	AHM M	-0254		1021	Mary Const			
Total Parc	cels*:			30,132* P	arcel cou	nt is figured	by parce	l per ownersh	ip sequence	s.		
Total Own			12	7.883								
orted Hom	nestead/C	harity An	nounts		Value	seek to fi	Ite	ms	SAN THE		A LUSWA RE	000 00 to 10 to
	ed Home (C			(+)			0		0			
	ervice Meml			(+)			0		0			
	rst Respond			(+)			0		0			
	Donated Ho		Amount	(+)			0		0			
	% DV Porte			(+)			0		0			
omestead		ons			Value	100	Ite	ms	WELL OF			
Homestea	d H,S			(+)			0		0			
Senior S				(+)		1	0		0		omestead	D - Disabled Only
Disabled B	3			(+)		1	0		0		ver 65 isabled Widow	W - Widow O - Over 65 (No HS)
DV 100%				(+)		2,817,63	0	2	2		sabled	DV - Disabled Veteran
	Spouse of a			(+)			0		0		(1, 2, 3) - 100% Disa	
Survivng S	Spouse of a	First Resp	onder	(+)		102,80	0		1	4 (4B.	4H, 4S) - Surviving S	pouse of a Service Membe
		Total	Reimburs	sable (=)		2,920,43	D .	2	3	5" (5B	5H, 5S) - Surviving S	Spouse of a First Responde
Local Disc	ount			(+)		15,572,14	0	1,23	6		• • • • • • • • • • • • • • • • • • • •	
Disabled V	/eteran			(+)		525,62	0	5	4			
Optional 65				(+)		10,800,82	0	58	0			
Local Disal	bled			(+)		882,72	0	4	7			
State Home	estead			(+)			0		0			
Total Exe	emptions			(=)		30,701,73) (inclu	des Ported/C	harity Amou	ınts)		
pecial Cer	tified Tota	als		BY-S	(V)	E DAM				0		
Exempt \	/alue of F	irst Time	Absolut	te Exem	otion		\$	110,740				
Exempt \	/alue of F	irst Time	Partial I	Exemptic	on		\$	745,940				
New AG/												
Mark	et						\$	951,370				
Taxal	ble							\$33,360				
Value	e Loss							918,010				
	rovement	/Persona	.1									
New Impi							\$7	894,630				
New Impi Mark	et											

Average Value	2S* (includes protested & exempt value)	AND STATE OF THE STATE OF	
Average Home	stead Value A*	Parcels	Total Homestead Value A*
Market	\$94,164	1,140	Market \$107,347,460
Taxable	\$78,224		Taxable \$87,791,290
Average Home	stead Value A* and E*	Parcels	Total Homestead Value A* and E*
Market	\$113,876	2,278	Market \$259,411,040
Taxable	\$95,469		Taxable \$214,748,190
Average Home	stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and
Market	\$100,671	2.732	Market \$275,033,220
Taxable	\$84,636		Taxable \$228,053,480
Average Home	stead Value M1	Parcels	Total Homestead Value M1
Market	\$34,410	4 54	Market \$15,622,180
Taxable	\$28,667		Taxable \$13,305,290

Count of H	omestead	S				Strange I	Miner		11,0112.00	I AS I SE		heer salaring a sur
Н	S	F	В	D	W	0	DV	DV100	SS First F	Resp S	S Svc Membe	r
592	603	0	46	0	3	0	61	42	0		0	
Owner and	Parcel Co	ounts		W. Eli		通過器 有 場	u Caron		WILL TO		KERNINI KE	
Total Pard	cels*:			10,621° P	arcel cour	nt is figured b	y parcel p	er ownersh	ip sequence:	s.		
Total Owr	ners:			5,346								
orted Hon	nestead/C	harity Ar	nounts		Value		Item	S		s quit	The Blanch	
DV Donate	ed Home (C	harity)		(+)		0			0			
SS of a Se	ervice Memb	per Ported	Amount	(+)		0			0			
SS of a Fi	rst Respond	ler Ported	Amount	(+)		0			0			
SS of DV I	Donated Ho	me Porte	d Amount	(+)		0			0			
SS of 100	% DV Porte	d Amount		(+)		0			0			
omestead	,	ons			Value		Item	s		WE WAS	Trest St	
Homestea	d H S			(+)		0			0 1			
Senior S				(+)		0			o	H - Home		D - Disabled Only
Disabled E	3			(+)		0			0	S - Over		W - Widow
DV 100%				(+)		5,495,260		4	2	B - Disab	led Widow	O - Over 65 (No HS)
Surviving 9	Spouse of a	Service N	/lember	(+)		0			o		2, 3) - 100% Disa	DV - Disabled Veteran
Survivng S	Spouse of a	First Resp	onder	(+)		0			o			pouse of a Service Membe
		Total	Reimburs	sable (≃)		5,495,260		4	2			Spouse of a First Respond
Local Disc	ount			(+)		14,058,260		1.23				
Disabled V	/eteran			(+)		479,950			2			
Optional 6	5			(+)		11,102,910		59				
Local Disa	bled			(+)		817,910		4				
State Hom	estead			(+)		0			0			
Total Exe	emptions			(=)	;	31,954,290	(include	s Ported/C	harity Amou	ınts)		
pecial Cer	rtified Tota	als		18 Tues	14.117	3 3 3			5.8° 0° \			
Exempt \	√alue of F	irst Time	Absolut	te Exem	otion		\$6	9.410				
Exempt \	/alue of F	irst Time	Partial !	Exemptic	on		\$1.02	26,790				
N 4 0	(-			•								
New AG												
Mark								3,580				
Taxa							\$4	7,790				
	e Loss						\$1,31	5,790				
Value		/Persons	al									
	rovement		4.0									
New Imp	rovement	11 6130116					040 07	TE 440				
	et	11 0130110					\$10,27	75,440 11,500				

S* (Includes protested & exempt value)			
stead Value A*	Parcels	Total Homestead Value A*	
\$84,804	1_127	Market \$95,574,370	
\$69,106		Taxable \$70,423,830	
stead Value A* and E*	Parcels	Total Homestead Value A* and E*	
\$107,985	2,223	Market \$240,051,060	
\$88,801		Taxable \$186,236,680	
stead Value A* and E* and M1	Parcels	Total Homestead Value A* and E* and	d M
\$96,898	2.601	Market \$252,032,600	
\$79,937	,	Taxable \$195,899,930	
stead Value M1	Parcels	Total Homestead Value M1	
\$31,697	378	Market \$11,981,540	
\$25,867		Taxable \$9,663,250	
	\$4,804 \$69,106 \$107,985 \$88,801 \$107,985 \$88,801 \$107,985 \$88,801 \$107,985	\$tead Value A*	Stead Value A* Parcels Total Homestead Value A* S84,804 1.127 Market \$95,574,370 Taxable \$70,423,830